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SHSEE WX FEE
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[RAD#] (Bt F9)
B = RIEEREE TEE {if %
M8 e 289,266 293,899
2R% 197,000 222,600
ETENWESE 123,000 129,000 |@12,000x 10 @1,000 x 3(tk&¥E) @3,000 x 2 ALE)
SHMEYESE 24,000 24,000 |@4,000 X 6
EELBYELE 12,000 12,000 |@2,000 6
ZRYEE 24,000 24,000 |@4,000 % 6
A B & , 0 15,000 |@5,000% 3
x & B 14,000 14,000 {@1,000%x8 @3,000 X 2
* B #H 0 2,000 |@1,000 x 2
wHERH 0 2,600 |@1,300 x 2
| 15BFERSITE 510,000
i 0 110,000 |£ B @5,000% 13 HEHF@5,000%9
B & 0 400,000 |EoHEEEIBIAEE
HURA 2 3,002
o4 f® 0 3,000
FEHA 2 2
FitEF 184,752 20,000
a &t 671,020 | 1,049,501
(ZHDER)
¥ = BIEERERE TFHE ] 5
MEEER 160,000 161,000 |&i5%. fEHEH
b 38,330 40,000 |FI R, 28—, BB IFH
x B & 14,000 14,000 |#§%% 1,000x8 3,000 x 2
B & & 48,730 0
HERE 28,760 44,880 |F#k. TUL L0 ED
B OE B 36,472 40,000 |BEELL, BRBED
¥ & 50,829 60,000 [AE—{t. RS F4 7 REHIEN
15RERESITERE 0 650,000 | $HISERERR
a &t 377,121 | 1,009,880
REARAEE 293,899 39,621




